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Line

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Figure 2: Deaths from earthquakes related to development level and mean magnitude,
1980-2009

Earthquakes that | Earthquakes that Earthquakes Earthquakes that
resulted in resulted in that resulted in resulted in over
no deaths 1-9 deaths 10-100 deaths 100 deaths

Development
level

2. (a) Use Figure 2 to describe variations in deaths from earthquakes. [5]

© WJEC CBAC Ltd. (1201-01)
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Sticky Note
Basic manipulation of data.

Sticky Note
Comments show relative importance.

Sticky Note
Generally understands the table. Variation shown by reference to relative value. Uses data effectively.

Sticky Note
Confused here.

Sticky Note
Table not show deaths.

Sticky Note
Use Figure 2 to describe variations in earthquake mortality.  (5)
The table shows variations in mortality caused by earthquakes in four categories – no deaths, 1-9 deaths, 10-100 deaths and over 100 deaths. The table then gives the % of earthquakes in these categories for countries at three levels of development – it shows that 6.5% of the earthquakes that resulted in no deaths occurred in LICs. The bottom of the table shows the mean magnitude of earthquake for each category – it shows that the mean magnitude of earthquakes that resulted in no deaths was 5.9.
1 mark is awarded for a variation shown with a further mark for evidence from the resource.
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Sticky Note
Again misunderstanding with deaths but sees the relative values for HICs for 100+ deaths. Needs to back this with data -9% as opposed to what? To gain a mark for data there would need to be reference to HIC having the least. 

Sticky Note
Makes the mistake of thinking that the table shows deaths but there is a valid variation in the comparison of data within the MICs.

Sticky Note
One variation identified via data. One variation showing relative value.
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Sticky Note
Has completely misunderstood the table.

Sticky Note
Use Figure 2 to describe variations in earthquake mortality.  (5)
The table shows variations in mortality caused by earthquakes in four categories – no deaths, 1-9 deaths, 10-100 deaths and over 100 deaths. The table then gives the % of earthquakes in these categories for countries at three levels of development – it shows that 6.5% of the earthquakes that resulted in no deaths occurred in LICs. The bottom of the table shows the mean magnitude of earthquake for each category – it shows that the mean magnitude of earthquakes that resulted in no deaths was 5.9.
1 mark is awarded for a variation shown with a further mark for evidence from the resource.


Sticky Note
Very confused grasp of what the table shows.

Sticky Note
Misunderstanding continues. Comments that LICs have larger proportion of death tolls but data on the graph does not support this. Has a general idea that more deaths occur in LICs which has been learned but data does not fit this concept.

Sticky Note
Misunderstands graph - it does not show % deaths.


Figure 2: Deaths from earthquakes related to development level and mean magnitude,
1980-2009

Earthquakes that | Earthquakes that Earthquakes Earthquakes that
resulted in resulted in that resulted in resulted in over
no deaths 1-9 deaths 10-100 deaths 100 deaths

Development
level

2. (b) Compare local and regional impacts of one or more tectonic events. [10]

© WJEC CBAC Ltd. (1201-01)



Nihe 1010 Hak eamum had” Lotk

(emamL and  \acul N\nn(lrhm Qﬂ.@nﬂz

Wt Located (6 VT Le st af We ' capieu

?oﬂr e Prinwe ,M\cﬁ B HNLNM{F SquUer\

o large tumber of sial M&M@v@m}m

mr\on(h 0L a4 ecnamicCThouee ey el

ar et on Mo ainba a4 o Oho\

The ' eCO0OMic Nhﬁ)udﬂjm We =it 0.peeckec

e  reqian o o oo, ~hore iy $7:€

il ¥, dgmase amdudig £ §3 Sl
Of (oA letes TThe oy “(oag rkﬂmmd

Nty Wos ¢ B\ted cndbuna 4 (@ngy, /Lm]vﬁ

and  Hos~ peaat  fhok bade ?uFFU:Aou\d

ol For B Lna= (ad \Lbean Cive [Py Lesr

e kv it ﬂmmom and  had v acut

o) ueard b da” 5 aga. ~lay agfected

_fUQﬂuflr’\ N 0} CA\(\OLQ (L?(Q)\MV\G. NG

P@vy\d&'fdj)f as  ap mmmu cﬂow nabicd
e




Question
number

lacal \W\(‘ﬁﬂh Ote — @ %Qca‘\ (U’\(ﬂ

Aamcqmn\\{z Y /)\SCJ Q(\& rkl@d H.ke YY\OLI(M'M

op MnGie e Yo aptul G oy - fond’

Tl (U\LueJ b o dail e nLMbeL 6 £

emhm h x> [ cco  and o_fmyin

lc(ul ((\oﬂJ.Hr\ RAMugd 0 MQLMM LUe \(\MIN‘

QJG/ G \r\omt’mbl LR A€ r\O{!)’m\Mty A e (M\hl

Farn. agfetting e  (0ndaid of hoat Uy

Qut fQUA\uwl JP{N Hao ke, GLM LAV

SLMQQ L2 4 A&mﬂad / M(\llnlma HJ‘Q ’3\14\01\/1

wnijedgihes  0Gh gy P Um\wﬂf(u_ (ot

Oekoid P et aparctT W _the (apld] |

‘kﬁm.vl/?éé@@b Loese  Condo oMY L0 4) (p,,mlhv

M ooy canuhar gnd fre flewd o

diewre— Ly Wo  and ¢ i 2610 qo6h ke

beon hooked .l f\ Iy (\Acwm

Cueqil, He  toc) O (] w Ho Houk

@Mﬂﬁl&lfu LAsc Hﬁ{ ler\%gr} On *’UTYH&/

N\a educabN  and” (uulhng \a homed s,

e M(h o e reman 0 o Jadu Wi

Q(U\orml/ a4 Iy lf\ J e dou L gpmaft Gy H\o\_
\(\thm (}LﬂA !ﬂO(l;MO’ U \\I\V\Ffl [ &Wdif

fre ohdu @untvy oy 140 ol iy able £8

be nuk b e -

Leave
Blank



®)

Nhe 2010 MHat; |

CQMWHQM had”

o

(emomk aun

NY\MHH The  epicontie

=

?o(‘c

la(mdﬂ(e m\u Ce gt af e ((mt‘m
e Prince y AJ\C& ﬁ MAQA‘( ful( ¢ SuWUeA

a

((UQ{ LNpe g o) Souak MM@@%W

)/Y\O(’i (h

oL ad e(mcmu“ﬂwur G4 (Jﬂb

Gu\ \YY\DQU{L A

e

(@ankv - 04« uhole .

The '

tCANOMN ¢

\\{Y\(Dudsj

mMJuerz\

Mcded

Hre

(9N 04 o okt hore vy &

(g

bl Ceon

¥,

T

7R\ (&H(‘hv\q

0

A€ \8\\X¥4

& ﬁmﬂ((o{\

(oe) Tl

/(UU’Y\OLO&J

AN

Wom £ H\te

centbuno (@og, Lipd bt

apd

fay ~

W\lQLl\f

that  hade

memL and

O\Mb ﬂ&m\MHW\*(&J,\nB{M (k)¢ rhx)/uw

una e fo i (01 ¢ and  hod fo Lcut

o) _wead by Ao’ g aaat” o, a%ecud

L (osion ) o4 G Ll decbwns g
,fm\d@hi%w an mmu cﬁow nabicd ‘



Sticky Note
Clear - shows what the paragraph is going to discuss.

Sticky Note
Comparison made with economic emphasis on regional impacts.

Sticky Note
Attempts a realistic comparison that evolves from points presented.

Sticky Note
A variety of local impacts are identified that are social and demographic. This section has breadth but there are developments of each point made.
Data is accepted.

Sticky Note
Figure accepted - there is a great variation in the literature depending on the date of the resource used.

Sticky Note
Provides up to date example with some background information. Establishes scales and provides an acceptable definition of what is meant by the scales.

Sticky Note
Compare local and regional impacts of one or more tectonic events.   (10)
The question requires three elements to be addressed
·	Knowledge of the impacts of one or more tectonic events
·	Knowledge of how these impacts can be seen at the identified scales  
·	Comparison of the impacts at the identified scales – similarities and/or differences
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Sticky Note
Change of scale is identified.

Sticky Note
Level 3 Answer. 
Identifies and addresses both scales. Valid case study with some detail and development given. Comparison in final paragraph.
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Sticky Note
Gives a variety of information on demographic and social impacts at a local scale. None are developed but the response shows breadth. Figures are accepted as there is a variation in the published data. 

Sticky Note
Scale identified

Sticky Note
Valid case study with some background material. Magnitude accepted.
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Sticky Note
Level 2. 
Has addressed the regional and local scales with reference to two case studies. There is some breadth to impacts identified but the social, demographic, economic features could be more given more emphasis. Comparison is missing.

Sticky Note
Repeats the local/regional scale structure of the answer. Comments on a series of impacts with breadth rather than development. Does not take the opportunity to address the comparison aspect of the question that is required to gain access to Level 3. 

Sticky Note
Identifies a separate event that has the potential for comparison. Some background material.

Sticky Note
Has the potential to be put into a Caribbean context but left with a global rather than regional flavour.

Sticky Note
More secure regional context but not developed.

Sticky Note
Comments on social impacts as a result of migration. The regional context is not really developed in any depth.  

Sticky Note
Identifies regional scale
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Sticky Note
All very vague. The possible comparison of aid is not secure enough to be given credit.

Sticky Note
Second event identified but lacks date and specific location in Wales. Not even sure that it has occurred!

Sticky Note
Some valid comment upon economic impacts but lacks any identification of scale. Data accepted. 

Sticky Note
Becomes confused. The scale aspects of population size are not clear. Reference to flood defenses highlight lack of knowledge associated with chosen case study.

Sticky Note
Tries to discuss demographic impacts but data lacks any precision which detracts from the response.

Sticky Note
Sets the scene with some basic background and identifies categories of impact. Thrust of potential comparison established.

Sticky Note
Up to date case study but date of earthquake lacks precision.
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Sticky Note
Level 1. 
Shows little knowledge and understanding of the selected case studies. Mentions scale but there is no real development of impacts using local and regional. Comparison is only hinted at.

Sticky Note
Warning systems for earthquakes not available in Wales!


Figure 3: 1:25000 extract of part of the valley of the River Ouse, North Yorkshire
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(b) Outline how Ordnance Survey maps can be used in an investigation into changing physical
environments. 8

© WJEC CBAC Ltd. (1201-01)
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Sticky Note
Links to sample sites. Could have developed the concept of sampling methods at this point.

Sticky Note
Develops the idea of accessibility. Looks at  accessibility the study area and links with risk assessment.

Sticky Note
Clear comment that identifies the use of OS maps in the sequence of inquiry.

Sticky Note
Simple sentence that introduces the OS map and what it shows in relation to physical environments.

Sticky Note
Outline how Ordnance Survey maps can be used in an investigation into changing physical environments. 										(8)
The question invites consideration of:
·	The information that is shown on OS maps
·	How the information can be used in an investigation into changing physical environments. This can be from any stage of an investigation such as planning or data collection. 
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Sticky Note
Level 3. 
Focus is on the use of OS maps. Related to potential investigations. Has two elements of the sequence of inquiry - planning and data collection.

Sticky Note
Practical use of OS maps during an investigation.

Sticky Note
Develops and illustrates how OS maps could be used in an investigation into changing landforms.

Sticky Note
Identifies second use of OS maps in the forma of data collection tools.
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Sticky Note
Level 2. 
There are a number of valid points made but they are not developed at all.

Sticky Note
There is some credit in the identification of what type of investigation an OS map could be used for. However the development of land use characteristics is rather lacking in clarity.

Sticky Note
OS maps as a data source but there is no specific development or illustration.

Sticky Note
Valid use of OS map but it is not developed. Use of the OS map as a base onto which graphs, photographs etc can be attached.

Sticky Note
Identifies planning as a use of OS maps but the development fails to put this into context. Could comment upon the identified features in the context of accessibility.

Sticky Note
Outline how Ordnance Survey maps can be used in an investigation into changing physical environments. 										(8)
The question invites consideration of:
·	The information that is shown on OS maps
·	How the information can be used in an investigation into changing physical environments. This can be from any stage of an investigation such as planning or data collection. 
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Sticky Note
Level 1. 
Knowledge of OS maps is basic. No attempt to relate to an investigation.

Sticky Note
Loses the tread of the question and less secure as shown by reference to 'white space'.

Sticky Note
Simple identification of features. Misses the opportunity to link relief and types of trees to an investigation into physical environments.

Sticky Note
Information identified is not associated with a physical investigation. Tourism does not go beyond basic identification. Candidate is simply extracting information from the key for Figure 3.

Sticky Note
Valid comment on topographic information  that can be found on OS maps. No detail and does not develop how it can be used in an investigation.

Sticky Note
Outline how Ordnance Survey maps can be used in an investigation into changing physical environments. 										(8)
The question invites consideration of:
·	The information that is shown on OS maps
·	How the information can be used in an investigation into changing physical environments. This can be from any stage of an investigation such as planning or data collection. 
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Qz (a)

© WJEC CBAC Ltd.

Use Figure 2 to describe variations in earthquake mortality. [5]

The table shows variations in mortality caused by earthquakes in four
categories. These variations are also grouped by factors that may have an
effect on the magnitude of mortality.

The first part of the table shows variations in relation to levels of development.
In response to this candidates may identify that most mortality is found in
middle income countries. The table also shows that higher income countries
have a higher percentage (%) of events that result in ‘no deaths’ than ‘over
100 deaths’. The opposite is true of low income countries.

The second part shows that higher mortality events have higher magnitude
earthquakes.

Award (1 mark) for valid comment with further (1 mark) for evidence from the
resource.

Variation can be shown by comparison of data (1 mark) e.g. earthquakes that
resulted in no deaths are 70.6% in MICs and/whereas HICs are 22.9%;
earthquakes that resulted in no deaths are 70.6% in MICs and lower in HICS
at 22.9% (2 marks).






Q2 (b)

© WJEC CBAC Ltd.

Compare local and regional impacts of one or more tectonic events. [10]

The question involves a number of elements — knowledge of both local and
regional impacts plus the ability to compare these impacts. Answers should
display an awareness of the differences in scale required in the question.
Examiners should be flexible in the interpretation of local and regional.

Answers will probably look at the local element in the form of impacts that are
found in the area surrounding the epicentre of an earthquake or the area
adjacent to the volcanic eruption. These impacts can be social, economic,
demographic and/or physical. Regional impacts examine those that are wider
in extent. For instance the economic impacts can have a broader scale —
Kobe had an impact in the Eastern Asian region as did the Sendai earthquake
and tsunami. The eruption of Eyjafjallajokull had a social and economic
impact at a European scale. Be prepared to look at impacts from the view of
the aid that is generated in response to hazard — aid came from the USA and
other Caribbean countries as a response to the Haitian earthquake.





(c)

© WJEC CBAC Ltd.

The comparison element requires candidates to look at similarities and/or
differences at the stated scales. This comparison could take the form of an
examination of the relative importance of social, economic physical etc. at
local and regional scales. Other candidates may compare the scale impacts
of different events. Part of the comparison may refer to the reasons for
similarities and differences. This could take the form of a comparison of
events — Haiti v Christchurch — with a description and reasoning for the
comparison. It is important to note however that this approach needs to
address both scale elements of the question.

Accept answers that approach the question through an examination of a
single case study as well as those that choose to refer to a number of
examples to illustrate each element of the question.

Candidates that give a detailed review of the impacts without covering the
required scales or comparison should be confined to Level 2.

Good knowledge and understanding of impacts at both
Level 3 scales.

8-10 marks | Good comparison.

Good use of examples.

Either: some knowledge and understanding of impacts at
both scales.

Or: good knowledge of impacts at one scale.

Some comparison.

Examples are evident.

Level 2
4-7 marks

Level 1 Basic knowledge of impacts at both/either scales.
0-3 marks | Little use of examples.

Outline two strategies used to manage either tectonic or flood hazards.
[10]

There will be a great variety of strategies used depending on the hazard(s)
selected and the examples that have been studied. Credit strategies that
address prediction, prevention, preparation, adaptation and land use
planning. The focus of the question is outline so expect to see answers that
describe the identified strategy and how it manages the hazard. The
management may refer to how the strategy allows people to avoid the hazard,
to absorb the impacts of the hazard or to alleviate the impacts of the hazard
after it has occurred.

Popular strategies that may be used are:

Earthquakes: building engineering, earthquake preparedness, household
seismic safety, seismic retrofit, education for citizens, emergency service
training, evacuation for tsunamis, land-use plans, aid and earthquake
prediction.

Volcanoes: early warning systems, evacuation, emergency plans, education
for citizens, emergency service training, building engineering, land-use plans
and aid.

Floods: strategies may include the use of dykes, washlands, arrangements
of rooms in housing next to rivers, evacuation, afforestation, specific aid
projects etc.





		Blank Page




(b)

© WJEC CBAC Ltd.

Outline how Ordnance Survey maps can be used in an investigation into
changing physical environments. [8]

Candidates could cover a variety of stages in the collection of information. In
the planning stage there could be reference to a number of uses — the
establishment of the suitability of the area for study, for risk assessment and
for the establishment of sampling procedure and sites. Candidates may
discuss the information that is available on OS maps such as height, slope,
vegetation and the amount of settlement. OS maps can also be used as a
base map for recording data. Some candidates may refer to Digimap as basis
for collecting information on land use or similar maps that can be used to
record information via GIS.

The command is ‘outline’ so for full credit the response needs only to give a
developed description of how the OS map can be used. The quality of the
answers will depend upon the nature of the outline which could be one use of
OS maps developed in detail or a variety of uses in less detail but giving a
broader understanding.

Level 3 Good knowledge of use(s) of OS maps.
6-8 marks | Good development of link to investigation.

Level 2 Some knowledge of use(s) of OS maps.
3-5marks | Some development of link to investigation.

Level 1 Basic knowledge of use(s) of OS maps.
0-2 marks
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